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SAT Math Test Problem Children:  Complex Numbers 
(Part 4) 

 

 

15.  Which of the following complex numbers is equivalent to 
1+𝑖

1−𝑖
  ?  (Note: 𝑖 = √−1) 

 

A)  1 + 𝑖 

B)  1 − 𝑖 

C)  𝑖 

D)  −𝑖 
 

 

16.  Which of the following complex numbers is equivalent to 
1−𝑖

1+𝑖
  ?  (Note: 𝑖 = √−1) 

 

A)  𝑖 

B)  −𝑖 

C)  1 + 𝑖 

D)  1 − 𝑖 
 

 

17.  Which of the following complex numbers is equivalent to 
2+𝑖

2−𝑖
  ?  (Note: 𝑖 = √−1) 

 

A)  
2

2
− 𝑖 

B)  1 − 𝑖 

C)  
3

5
−

4𝑖

5
 

D)  
3

5
+

4𝑖

5
 

  



18.  Which of the following complex numbers is equivalent to 
−5−2𝑖

4−𝑖
  ?  (Note: 𝑖 = √−1) 

 

A)  
−5

4
+ 2𝑖 

B)  
−5

4
− 2𝑖 

C)  
−18

17
+

13𝑖

17
 

D)  
−18

17
−

13𝑖

17
 

 

 

19.  Which of the following complex numbers is equivalent to 
−3−5𝑖

7−2𝑖
  ?  (Note: 𝑖 = √−1) 

 

A)  
−3

7
+

5𝑖

2
 

B)  
3

7
−

5𝑖

2
 

C)  
−11

53
−

41𝑖

53
 

D)  
11

53
+

41𝑖

53
 

 

 

20.  Which of the following complex numbers is equivalent to 
−3+2𝑖

2−5𝑖
  ?  (Note: 𝑖 = √−1) 

 

A)  
−16

29
+

11𝑖

29
 

B)  
−16

29
−

11𝑖

29
 

C)  
−3

2
+

2𝑖

5
 

D)  
−3

2
−

2𝑖

5
 

 

 

21. 
6 − 𝑖

3 − 2𝑖
 

 

If the expression above is rewritten in the form 𝑎 + 𝑏𝑖, where a and b are real numbers, what is 

the value of a?  (Note: 𝑖 = √−1) 

 

 
“Only he who never plays, never loses.” 

Written and published every Saturday by Richard Shedenhelm    WeeklyRigor@gmail.com 


